B 1.1 (RBEI) B, Y)7E xoy FHE EHBEE " +1° =1
BRI D ARSI, RIEW: X 5 Y RHE%H

AHE I .
U\/I—xz

1
T mmx,mmmeé%mp(x,y):{g’ if (xy)0D

other
\/7
Bk, EX)= ” xp(x, y)dxdy = E J. —xdydx 0,
xoy \/7

\/7

V)= [ wp(e sy = [ [V L ydvas =0,

xoy \/72 d

1 -e?

EXY) = J..[ xyp(x,y)dxdy = _[_1.[ ﬁ#xydydx =0,
- -X

xoy
cov(X,Y)=E(XY)-(EX)(EY)=0, 0 (X,Y)=0,X 5 Y FHH%.
Rj{:’ —-1<x<l1 Hﬂ"

2
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xuFp, (0)=p (0)=2, p(0,0) =+,
p(0,0)Zp (0)=p (0),p5X 5 v FHEHEL.

Bl 1.2 (RETE) X B Y KHEXRECH o, &K

X*=g+bX 5 Y*=c+dY BIHXZRZE, HPa. b, ¢\ d
YAHES, Bb. dNAZE.
WEBH: cov(X*,Y*)= E[a+bX-E(a+bX)][c+dY-E(c+dY)]
= E[bX-bEX][ dY-dEY] = E[b(X-EX)d(Y-EY)]
= bdE[(X-EX)(Y-EY)]=bdcov(X, Y).

BN DX*)=b"D(X), D(Y*)=d’D(Y),
o (X*)=|b|lo(X), o(Y*)=|d|oY),

cov(X*,Y¥) _ bd cov(X,Y)
a(X*)o(¥*) |b|ld|o(X)o¥)

B L, P X*,Y*)=
=+xp(X,Y)==%p,

Bl 1.3 (GABTE) BREHNERR X 5 Y WhTEHEREN

G ij , Rk U=X2Y 5 V=2X-Y X RS
fi#: FER DX)=1, 0(X)=1,D(Y)=4, 0 (Y)=2, cov(X,Y)=1,
BT BL D(U)=D(X-2Y)=D(X)+D(2Y)-2cov(X,2Y)=13,
D(V)=D(2X-Y)=D(2X)+D(Y)-2cov(2X,Y)=4,
cov(U,V)=E[(U-EU)(V-EV)]

=E{[(X-2Y)-E(X-2Y)][2X-Y)-ECX-Y)]}
=E{[(X-EX)-2(Y-EY)][2(X-EX)-(Y-EY)]}
=2E(X-EX) 2-5E[(X-EX)(Y-EX)]+2E(Y-EY) 2=5,
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0, HoAta s,
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2. X5 Y KHXRB 0, K aX+b 5 cY+d FIHRRE,

Hiras by e dISHEE, Ha. c RAZE.
3. WX Xov Xav Xg BN, [FloAm HBFERE R E57)

hu,ot s AR Y=Xi+X+X3 § Z= Xo+ X5+ Xy FIHK RE

p(x, y)= {
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4. BHE XY, 2T ZEREN

B3R (1) (X,Y,Z) K RYPOERE;
(QU=2X+3Y+Z 5 V=X-2Y+5Z WX EH.



